
201 8rd{UIIUlh qtnFubbrrh rrllur, /onontu.{uD/
,fd

rlurur{trprurnm6 Zrughth hruilruthpun{hrnruprutr
Ontuchn
U0{uromrls 2018p. c}Omil0bpfr qtru0 /rhnrhnhdub/
$h0tu0utu{nnftu0 runpjmnn Zruqht hrurlur r0Bh 20 1 8B.p tnrgb

Q0tlur0 runruplluO
QOilur0

dL
ft0purg
ruUttlFq)

Qrurfrrhu0
tIfru{npp

tlhrutl
nFh
qh0u

C04huOmp
}ruluuU
/ 4lrurl/

€ur0ul1rlrgru0gh
ll

\n4'uuut
CPV

ryuuurllu
nodu0

ur0rlu0ntfg

I 2 3 4 ) 6
Onuqhn Onb0unhn t' qnnlunhn rftunrlh00bnh . ruhrnruUtu0 hunrurlunmrJ
trrudh0 0 funtdnl t)-ruul Onuohn5l

Ur4put0p0hp
2000000

$pruub0lrulturlh0 0;mpbp l, qfrnnqp0bp /hn4{u0
426r/

300000

3019763r flnqp 4 $npriruurlr (21x29,7) uu urnr-rh 2200 121000 55
30197233 Oryrruqur0ru[ tuqn{h UU hutn 100 2000 20
30197240 fd4pruqru 0ruU urnurqurhun uu hurur 100 4000 40
30197241 Upurqurlurn qururuLulnrl uu hruur 550 2200 4
30t97235 fdryruqu 6ul1/ l1n2n lluqln{ uu htuur 900 9000 1 0
30t99232 oflun uu huru 60 1200 20
30234300 Ullur[unrul10hp, CD uu huu 200 8000 40
30192121 anhr ehnhtrudnn uu hruur 100 10000 100
30199420 \r2ntilObpf pnryr UU urnL+ 250 1250 5
39263200 Qpruuh0;ru[tuth0 qhFp , rluut;ru6 uu hunn 500 6000 I2
30r92'n0 Unu0drurlutnhut uu hrurn 300 1500 5
30t92r37 Uururhur cnur$hrnh rlhqnr-ltnrl UU trrnr.rh 500 1000 2
301971 I  1 9runhlh rJhuuunururnh turwhn uu urnr{r 150 2250 1 5
30t97321 Qunht $npn uu huru 800 2400 J

30197322 9tupfrl db6 uu hunn 1700 3400 2
30197330nuUhr UU hurur 2000 6000 3
30192130 Uumfm uu hurur 100 5000 50
30141200 (uZtlht rlbpb0ut uu huu 3800 7600 2
30192t11 Cmurdrqfl Furndht{ UU hunrr 700 3500 5
30t92114 Cmudqf Frundhlh prrtttup uu urntrh 250 1000 4
30192160 Cun[Iu uu hurur 250 1000 4

39263520 Ubn'luQ 25uu UU hurtn 25 750 30
39263530 UbrldutQ 32UrI uu huru 70 1400 20
30197r21 Qndquf uu tnnr-rh r50 450 3
30197122 9ndquil qnr0u{np pn0ulll0bnn{ uu urmrh 400 800 2
30192t25 Uurptlbp UU htuur 250 1000 4

39264700 Sburp 48 pbpp uu hruut 250 1000 4
30192100l'lbmf0 uu hum 100 1000 t0
39241t40 Qp uub0lruUurth0 4ur 0 ulq uu hurn 100 200 2
39241210 Qp nrub 0lruttntth0 rI Qp uut uu hruut 250 500 2



30199200 Opurp0bp, pughLt0bp uu htuut 20 2000 100
30197242 Cttnphu{npuL1ur0 pugfiqtrbp UU hruur 500 10000 20
39263320 Opugnqg ulumh uu hum 200 800 4
30t92r33 unhl uu huu 300 1500 5
39292500 Pu0ntr uu hrurn 200 1200 6
3019723r $nrJl uu urntrh 1000 5000 5
30234620 $1b2 aQF uu huu 2800 5600 2
30192210 '4nfidbpur1h0 h0B0url,tq1nr0 duqu{b0 rlb6 uu hrun 400 2000 )
30192220 'tlnfi f bpur1[r0 [r0p0nr1.1q1n r0 duqu{b0 Snpn UU huur 150 1200 8
249tt200 Opugntlg uh4ru0lr uu hunn 7s0 750 I
30125100Stunpnhc uu hrum 2800 5600 2
30237411 {,ufrutppq1rulh0 Ull0hll 1runnq uu hurn 3000 9000 J

30t21470 Sn0bn lruqbruu rh0 ururhr 0bnh hrurftun tru urm{r 5000 15000 3
30237100 {rurhut runqhl 0hnh iluubn (ru nnuil 34950
.lunrutu0 uunBurlnnmrl0br/ hnnrjru t 5122/ .nnhs 800 000
30211280 {rurhu\rupq}r2Obp UU nnud 200000 400000 )
39111220 FuqLrupnn qnuuh0 lrutru rh0 (ru hruu 120000 120000 I
397t4200 OnnnruLhl uu hurut 280000 280000 I
Snu0uunnuluth0 0rmBbn / hnnltu0 4264/.nnho 900000
09t32200 trb0qh0 uu ilrutp 430 860000 2000
34000000 Ur[tnnulruhburnrudruuhp uu nnrurl 40000

Outnu.lntBptfifibp 1893000
E0bnqhnhh 0unulmplnt00hn /hruulub 4212/ nnhs 800000
71311280 L6bnqbuhlr bunu rntprnt0 uu rlprurI 800000
truwh bunutmBtm0 ftnndu0 4214/.nnhs 168000
72400000 h0nhn0bur Lruurh &unurmBrm0 uu rurlfru 14000 168000 t2
llwrrrhn{rrrqnruLru0 bunru rmBrm0 lhnnrluO 421 5 / nnho 50000
6651 1 170 <DnfuiunnruUhqnqh ruuruhnd uqnmBrm0 UU 4Fluil 50000
Sbnbtumil ut ru 6 bunu lmptm0lhnnil rub 423 4 / . nnhs 300000
92420000 Ohppbpmil hrul ulupupntpj m 0 0bplr

utuuronilu0 }unumrBrm0
uu rlpruU 30000

92411t00 SbRbttuurlruUru0 Ournurmplm0 uu 4nuu 270000

Uuuhurqfrurur\urtr brunurlmp3nr-trhhp /hna{urb 424I/
300000

76131 100 9urquruqurntfurtr hunfur\urpqfr
uulruuruplnr-rf

uu llFuli 25000

73432100 Zhttlrut uh rlhpngbhph gburhunnnrd UU IlFrurt 275000

Ubpb0ru0hpJr l, uruppru{npnt$0bplr U0prugh! 0npnqmrl /hnar[rub 4252/,nplg
800000

503 I 1 120 {rurftultrrupq2uJh0 urupprur[npml0bp]r 0npnqntrl uu llpuu 100000
501 10000 U{mnilbpb0ru.lJr pOpruglr[ 0npnqntd L

mbtuuturuuurnbnul
lru lltrruU 7500000

Onruqhnn Q0nhu0mn p0mrBh Ounulmplm00bn
Frudh001 funtrlp3 rl-ruu3 6nurchn51

Ounumrcmtfifihn 300 000
{urlruLrunolrurh0 }unumrBrm00hn ftnnrlur t 4232l.nnho
72261160 Opuqpullr0 urqurhn{rhu0 [. urquuupllrftu0

&unrumtplnt0
uu lltlurl 300000

Onuqhnn Q0nhu0ntn n0nttBh hur0nturh0 0unutntBrm00hn (un nurubnhO lwruuLru0nn)
Frudh0 01 hrmiln 6 'Lruul Onuqhn5l

Uqnu0B0hn
{uutnL 0rutuurutru rh0 ru rr 0rntBbn ihnnrhu0 4269 /. nnhs 4250000
0941 1600 {hnntL pmrautr qtuq UU 4purd 250000
16710000 Snuturnn qz hurtn 4000000 I

Ounuprynfi0hn 650000
71351460 Qrurfnuqprltu0 &runrulmp1m0/hn4rlvt64241/ UU lpruri 300000
50530000 9urp\urur\ur1u{r ptrp.Lnpnqryd h

ruruhruurlrnr-r^l /hnt.425?
uu 4Irrud 100000



7t320000 hhdhtrhpru\ruh lluluurqhfiutr
burnrurnrBlhnn{ urE 5 1 34/

uu +Ftud 150000

71750000 Gfirupupnrpprh t{hpuhu\rftuh
bunurlnrp.lhnnr]urb 5 1 1 3/

uu 4Fuld 100000

U2luuunutrphhp
chbphp[ h 2]rbnrp3nr-hhhfrh \ruulhuul rlhpruhnpnqpul/hn4rlrub 5 I l3l

8158300
45461130
0'

U2ur\nqplr uluh \ruu1. tlhpurhnpnqntt qz +Flxd
81s8300

Onuqhnn 6ru0uurunhrurh6 unru0uunnrn
Frudh004 tunrfpS rLruul Onruqhn5l

U2luuwu0p0hp
900000

Cb0phplr L l1unm1g0bplr g0pruglrll Onpnqnul
l.ruurhwru0ntil /hnnilrub 425 I /.nnho 900000
45231177 Aptrludlrglru0 du0ruulrugh0bplr

Lnqhdtuqrutnmrl L htunpbqnrd
uu llpurU 900000

Ontuqhnn IJ4pruhu0mrl
Audh005 hrmilpl rLruul Onuqhn5l

Uqprutrptrhp
800000

09134200 'I[qh1ur1[h 
{run\Jrp qz tJt*p 440

748000
1700

0921 1900 Spulurnpfrtmqhp uu nnruil 52000
Ounu1nry1n00bp

I 100000
\nrlnt6rur Ounulmptm00bn /hnntlub42 1 3/.nnhq I 100000
9051 I 120 trb0gtu4tullt0 uqph hurluprhu0 L

ubnuftnfudur0 }unurnrBrm6
uu rgturI 1 100000

OnuqhnU Qpunfururur\upupn-rl

Frudh006 tumilp3 a.ruul 6nruqhn5l
Uqpurbptrhp /hnarltub 4269 /

800 000
44rr2560 9nruthh hruilurhurnqh hmBhn UU 'Inunl 1s0000
44163100funnnrlruLhhn uu tlnurtl 650000
Ounu1nry1n00hp
E0bpqbult[ ]unu1mp1m00hp /hnry[u b 4212/ pplg

7000000
71311280 E0bpqbmltll brunrulmpjm6 uu 4fruU

7000000
Ch0phplr L llunm.yg0bplr 0npnqmil [. quhqu0md
/hnnilu0 51l3/.nnhq

1 980 000

50000000 hrnppul|r0 qnrlqlr {hpu0npnqdu0 uu ryrtuU 1980 000
Onruqhnn Onnnq0bnh rmuuilnnmil
trudh606 hrmrlp4 rLruu Onruqhn 51

Ur4putfipfihp 18s0 000
{ururmtl 0qruurullu1h0 rul 0;mpbp /hnat[ru0
4269/.nnhs

900000

44322200 Utulmlu, tlhlpnpullqO lrun uu nnuril 900000
UurnBhn h urunprurlnnnr-tfhhn lhn+rlurb 51,13/ 97s000
3 1 5 3 0000 I.rutftu hn h 1 ntuull npr.truh uurnphnh rftuuhn UU hrurn 25000 97s000 39

Uurnurlmplnrtrtrhp
E0[iqbm$1 ]unu.ymp1m00bp /hnry[u t 42l2/,nplg

1800000
713 I  1280 E0bpqbult\ brunrulmplm0 uu 4nuril 1800000
Onuqhnn Ulutnr-Burthh burnrutnrBtnr-bhhn
Onruqhnn Utt r.tlurhnrBurrhh burqrJurthnqmBrnr-trhhn
Fudh008 fumrln2 Aruu4 Unruohn 01



Uqnut0Bfihn
lururm\ hqurunu\rulhtr run 01mBbplhnarlru04269/,nrrhq 950000
18530000 Udrufunplur urnq nurthhn uu hruur 1s00 450000 300
39298000 Znr2utnlhpbhp uu tlnunl 224500
1893000 'Iq pngurll urh ul urlnturulbhp hunn 6500 162500 25
30192136 Qmtrur{np rlururfrurLhp Snr{r 600 15000 25
30192700 ttnltrunlnp p4php unL+ 400 10000 25
30192700 LllurUrullurh urhurp hunn 420 10500 25
30192123 $1nrluruurhn urnuhnrl tIIn+ 500 12500 25
39264600 Shurp 12 phpp hurur 40 10000 250
30192770 'tll uuurfrl frtr unr-rlrnr] Snr{t 500 12500 25
30192127 9p2ruunt$hp Zunn 500 12500 25
30193400 Uhnutrh unubnhntrhn qnphnh hulJrun hurur 500 12500 25
30192121 eba[\u{np qpfrl Zunn 100 s000 50
30192100uphr Zurur 300 7500 25
39292500 €rutrntr Zruur 200 5000 25

Uurnrulmplmhhhp
Qlr4hurLmp ptnrtph ur1l burnrulnr-p1nr-lrtrhp /hrurrlurb 4239/ 602200

92150000 U2urllnr-purlfb ttfr2ngurnnr-tfbhp]r hhur \uqrlurb
brunurlmplnr-hLhp

uu apurd 602200

U+*qhpn II*+ht h hhnntuururhurrlnprlnulhhplr hhnrup&urlltfurh h hpunnurpurllrulurh brunrulnr-ralnrhhhn
trrrdlr0O8 hrnulp3 a.ruul Opruqlrn 01
Shrlhlluurrlur\urtr bunrulmpgnr-lrtrhp lhnarlurb 4234/

100000
64235180 lhnnrurnurhurrlnp4rluh hhnurp&ur\rfurh

burnrulntplnr-h
uu apuni 100000

!n uqIUtU UpuurlulFngulph 4ruuurfrurpru\nr-p1nth
Frudh0 09 hntrlp 5 rhuul Onruqhn 51
Umpulr4lnu0bp n2- Qlr0ru0urulu0 rqburulltu0
(hurlul 0pru1lr0) [tuqdrul1bputrmp1m00bnh0 /hn4r[ru0 45 1 I
/,nnhq

620000

9960000 ,d-Sltqh hprud2rnur\urh 4qprrg> <nUrr-h0
untnuhnhu

qcnl 4ntuu 620000

OpuqFpU Ungluulu\urh hruurnt\ rupurnhnr-p1nr-hhhp (ur11 4uruhphh >rq.)
Frudlr0 10 hrmrlpT rLruul Onruqhn 54
L$putn{mp1nr-hhhp ur11 2urhmlp 2hhururqL4n4
llurqtturbhnqmBrmbhhnhh /trruduO 4819 /,nnhq 300000
9960000 <UpriturthRh rlunqh bplruluurup4rutlu0

0rufurudbn0mp1m00hnh trh0mnn0> {\

qQfiI 4ntuu 300000


